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Based on the data in table, answer the five questions that follow:

Consider the following table that shows the percentage distribution of cars and ratio between
diesel and petrol engine cars in four different States (A-D).

Total number of cars in all the four States is 1400.

State-wise Distribution of Cars

Ratio
State Percentage Distribution|pjegel Engine Cars : Petrol
e Engine Cars
A 14% 3:4
B 28% 5:9
C 32% 5-3
D 26% 15

fraifea arolt & I/ TG (A, B, C, D) ¥ T BRI &7 Uawa § faawr o Sew
Td TEId S99 @RI &1 AJud Ueikia fear mar & | 9t ar Iwal # o 91 oa
HET 1400 & | AU H SMHST W SMUTHE, TSt & I8 Sifoe |

o] - AR BRI &I faawu

U | BRI P ufaed | [ R,
SIoTd 394 &R : Ui o dR
A 145 3:4
B 28% 5:9
C 32% o
D 26% 10

What is the difference between the number of diesel engine cars in State 'B' and the
number of petrol engine cars in State 'D'?

(1) 24

(2) 42
(3)




56
(4) 68

Ay ‘B H Sloid sud BRI & 9= 3R A8 D' H UId Sui- BRI d1 GB=AT & did 3 &1
87

(1) 24
(2) 42
(3) 56
(4) 658

1[Option ID=23605]
2[Option ID=23606]
3[Option ID=23607]
4[Option ID=23608]

Sl. No.2
QBID:344614




Based on the data in table, answer the five questions that follow:

Consider the following table that shows the percentage distribution of cars and ratio between
diesel and petrol engine cars in four different States (A-D).

Total number of cars in all the four States is 1400.

State-wise Distribution of Cars

Ratio
State Percentage Distribution|pjese| Engine Cars : Petrol
e Engine Cars
A 14% 3:4
B 28% 5:9
C 32% 5.3
D 26% 1:1

fraifea ARt § IR TSGE (A, B, C, D) F Satd BRI &1 ufawrd ¥ faewor ofv S
Td IEId 99 $RI BT Jud Ueikia fear mar 8 | 9t ar sl § oY 9 o
HET 1400 & | AN & SMHST W MUTE, Usl & 9w Sifve |

o] - IR BRI B fadwu

U | BRI BT UfaDd o fadqor . P
SIold g9 BR : U2Id - BR
A 149 3:4
B 28% 53:9
C 32% 5:3
D 265% §

Number of petrol engine cars in State 'C' is what percent more than the number of
diesel engine cars in State 'A"?

(1) 100 %
(2) 125%
(3) 200 %
(4) 120 %

T o

T ¢ H Ui oM &RI & 9= g A H Sid SR &1 Y- &1 qa-1 § fha- Uiawrd
HYHE ?

(1) 100 Ufderd
(2) 125 Uded




(3) 200 ufgurd
(4) 120 Ud9d

1[Option ID=23613]
2[Option ID=23614]
3[Option ID=23615]
4[Option ID=23616]

Sl. No.3
QBID:344626

Based on the data in table, answer the five questions that follow:

Consider the following table that shows the percentage distribution of cars and ratio between
diesel and petrol engine cars in four different States (A-D).

Total number of cars in all the four States is 1400.

State-wise Distribution of Cars

Ratio
State Percentage Distribution|pjegel Engine Cars : Petrol
of Cars Engine Cars
A 14% 3:4
B 28% 5:9
C 32% 5:3
D 26% 1:-1

frgifera WUt & IR T9T (A, B, C, D) F Satd BRI &7 ufawd ¥ Ao ofv S
Td ISId 99 ®RI &1 Aquid Ueikia fear mar & | ot ar veal # ot 91 oa
TEIT 1400 ¢ | GRUM & 3THS! X muTiE, UHi F Iux e |

oY - GR BRI BI faau

I | BRI &1 ufaed # faaror : sk il .
STold S &R : Ui gu- BR
A 14% 3:4
B 28% 5:9
3 329 5:3
D 26% 1:1

If 25 % of diesel engine cars in State 'C’ are Air-Conditioned (AC), then what is the
number of diesel engine cars which are non-AC in State 'C'?

(1) 150

(2) S0
(3)




190
(4) 210

e I 'C' H 25% SIoid DR IS ied g dl Iod 'C H IR AdHD e Siid BRI Bl
=18 ?

(1) 150
(2) 20
(3) 150
(4) 210

1[Option ID=23621]
2[Option ID=23622]
3[Option ID=23623]
4[Option ID=23624]

Sl. No.4
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Based on the data in table, answer the five questions that follow:

Consider the following table that shows the percentage distribution of cars and ratio between
diesel and petrol engine cars in four different States (A-D).

Total number of cars in all the four States is 1400.

State-wise Distribution of Cars

Ratio
State Percentage Distribution|pjese| Engine Cars : Petrol
e Engine Cars
A 14% 3:4
B 28% 5:9
C 32% 5.3
D 26% 1:1

fraifea ARt § IR TSGE (A, B, C, D) F Satd BRI &1 ufawrd ¥ faewor ofv S
Td IEId 99 $RI BT Jud Ueikia fear mar 8 | 9t ar sl § oY 9 o
HET 1400 & | AN & SMHST W MUTE, Usl & 9w Sifve |

o] - IR BRI B fadwu

U | BRI BT UfaDd o fadqor . P
SIold g9 BR : U2Id - BR
A 149 3:4
B 28% 53:9
C 32% 5:3
D 265% §

What is the difference between the total number of cars in State 'C' and the number of
petrol engine cars in State 'B'?

(1) 212
(2) 224
(3) 204
(4) 196

T 'C T BRI D Sl Y= AR T4 ‘B H Ui SfoH BRI &I G & did SR F1 3 ?

(1) 212
(2) 224




(3) 2p4
(4) 196

1[Option ID=23629]
2[Option ID=23630]
3[Option ID=23631]
4[Option ID=23632]

Sl. No.5
QBID:344637

Based on the data in table, answer the five questions that follow:

Consider the following table that shows the percentage distribution of cars and ratio between
diesel and petrol engine cars in four different States (A-D).

Total number of cars in all the four States is 1400.

State-wise Distribution of Cars

Ratio
State Percentage Distribution|pjese| Engine Cars : Petrol
Ehiaes Engine Cars
A 14% 3:4
B 28% 5:9
C 32% 5:3
D 20% 19

fraifea arolt & IR TWET (A, B, C, D) ¥ T BRI &7 Uaa | faaw o Sew
U9 TSI ¥99 @RI BT U UeiRid fear mr g | 9t IR Tt § R B o9
HE&T 1400 B | GROTt & smerer ux emutia, wat & IR S

oY - AR BRI BI faawu

U | BRI BT Ul o [ . SEIY
SIOTd 3o &R : Ui $oH BR
A 14% 3:4
B 28% 5:9
C 329 5:3
D 26% 1

What is the sum of petrol engine cars in all the states together?

(1) 710
(2) 712
(3) 714




(4) 716
Tt Il & =i Ueld Su BRI I AT &1 G 1 5 2
(1) 710
(2) 712

(3) 714
(4) 716

1[Option ID=23637]
2[Option ID=23638]
3[Option ID=23639]
4[Option ID=23640]

Sl. No.6
QBID:344641

Which of the following types of learners learn with the help of flow charts or diagrams?

(1) Tactile
(2) Visual
(3) Auditory
(4) Rote

fftiad 3 4 ©H 9 UeR & R1amdf waeme! iR Wi o #ce 9 Qe na e § 2

(1) I
(2) TEED
(3) Hau-ge
(4) Tiardl

1[Option ID=23645]
2[Option ID=23646]
3[Option ID=23647]
4[Option ID=23648]

Sl. No.7
QBID:344653




Match List | with List 11

List | List 11

Concepts Main proponent
A. Integral education . John Dewey

B. Focus on spiritual aspects of Indian philosophy |II. Sri Aurobindo
C. Learning to take place in nature and from lII. Dr. Sarvepalli
nature Radhakrishnan

D. Experiential learning

V. Rabindranath Tagore

1) A-ILE-IV,.C-1II,D -1
(2) A-LB-1ILC-1LD-1IV
G A-NLE-ILC-1LD-1V
(4) A-ILBE-IILC-IV,D-I

gt | o 1Y gl 1| B FHaH difere

Choose the correct answer from the options given below:

Lol

TUTIOM = ufaure®

A. SfaHd e L S 5
?ﬁmﬂﬂmﬂ&hﬂm&‘aﬂmﬁaﬁmaﬁmwﬁﬂ g

C. uopfa H auT Ul ¥ SR U &= ¥ ddfda 1. ST TdUeT! ALTH]
D. WARTIEH® 218 . A=Y TR

9l feU 7TU fadedl § § |t 3’ &I 994 dife ;
1) A-ILB-IN, C-1I,D-1I
(2) A-1LBE-ILC-1L,D-1V
(3) A-lILB-1,C-1,D-1IV
(4) A-1L,B-1I,C-1V,D-1

1[Option ID=23653]
2[Option ID=23654]
3[Option ID=23655]
4[Option ID=23656]

Sl. No.8
QBID:344663

can be used by a teacher?

(1) Summative Assessments

(2) Formative Assessments

In order to identify individual differences of learners in a class, which of the following




(3) Diagnostic Assessments

(4) Peer Assessments

TS BT el & afeaa o ol fed &3 & o, e grr Fgfafaa o 9
oo vanT faear o Uddl 6 2

(1) hHaaEE HThaA
(2) FATES e
(3) HEATES ATHad

(4) HHDE AT+

1[Option ID=23661]
2[Option ID=23662]
3[Option ID=23663]
4[Option ID=23664]

Sl. No.9
QBID:344668

The e-content generated under e-PG Pathshala project for Non-Technical Post-Graduate
courses is hosted on web by

(1) NPTEL
(2) INFLIENET
(3) SWAYAM
(4) IGNOU

IR-A@-10! Fd® L UTeg®H! & 0l 5 Ul St YIS (e-PG Pathshala) RIS &
el giord § - e ot Fuftfed & ¥ fvae gRT 99 WS g 2

(1) T34 S T (NPTEL)

(2) 3 U7 U% Ud T3 &1 T 3 21 (INFLIBNET)
(3) TTTH (SWAYAM)

(4) T3 Sl T 31 G (IGNOU)

1[Option ID=23669]
2[Option ID=23670]
3[Option ID=23671]
4[Option ID=23672]

Sl. No.10
QBID:344672

Which of the following is NOT an affective domain?

(1) Receiving




(2) Analysing

(3) Valuing

(4) Organising

FafifEd o 9 o Hards 87 181 8 2
(1) Ut @Al

(2) fa=awo

(3) qed [eiRd &

(4) HUied B

1[Option ID=23677]
2[Option ID=23678]
3[Option ID=23679]
4[Option ID=23680]

Sl. No.11
QBID:344678

When a variable leads to a spurious interpretation of research results, it is called

(1) Control variable
(2) External variable
(3) Conflicting variable

(4) Confounding variable

o U URad 9 2y UROmE! &1 saRea WHIUid gl Jidl & df 98 dedldl o -

(1) a0 uRkad
(2) el uRad

(3) SER® URad
(4) YTHS URad

1[Option ID=23685]
2[Option ID=23686]
3[Option ID=23687]
4[Option ID=23688]

Sl. No.12
QBID:344681

The 'Age’ of a respondent is an example of

(1) Parallel variable
(2) Monadic variable

(3) Dyadic variable




(4) Simple variable

U U & 1Y [ gl 3a1e0 & ?

(1) IHHER IRad
(2) Udhd URdd
(3) fg@m uRad
(4) YIYRU URad

1[Option ID=23693]
2[Option ID=23694]
3[Option ID=23695]
4[Option ID=23696]

Sl. No.13
QBID:344687

Which of the following are disadvantages of qualitative research?
A. Too sensitive to the context

B. Open to debate

C. Too subjective

D. Difficult to generalise

E. Issue of replication

Choose the correct answer from the options given below:

(1) A DandEonly
(2) B, Cand D only
(3) C,DandEonly
(4) A, Band Conly

FETd © &1 Tond® Uy & HAHBRI f6g © 2
A. GeH & ufg sifoddgasiia

B. dc - fadIg & fod Tar
C. 3ifd safgag
D. UMHHdidd &34 § BidTs

E. Ui fd &f faug
d feu TTu fasedl & 9 981 SR g -




(1) Pad A, DIARE
(2) Haa s, C AR D
(3) HAAC, D ARE
(4) Bac A, B AR C

1[Option ID=23701]
2[Option ID=23702]
3[Option ID=23703]
4[Option ID=23704]

Sl. No.14
QBID:344693
Which of the following factors influence the sample size for a project?
A. Type of project
B. Purpose of project
C. Previous research in the area
D. Researcher's personality

E. His/her standing as a researcher

Choose the correct answer from the options given below:

(1) A BandConly
(2) B, Cand D only
(3) C,DandE only
(4) A CandEonly

fopdt uftaiemn & e ufdesf eneR & uywifdd & o Fefifd eRe ST FH TS 2
A, GRS BT UHR

B. GRS &1 3574

C. &7 ¥ gdad! sdu=

D. TMYHdi B Hidaa

E. TMe@d! B SO WRIET

- feu e fased! & 9 Wel SR 94 ;
(1) HITA, B AR C

(2) HaTB, CHRD




(3) Hgdc, D 3ARE
(4) AT A, CHIE

1[Option ID=23709]
2[Option ID=23710]
3[Option ID=23711]
4[Option ID=23712]

Sl. No.15
QBID:344702

Match List | with List Il

List | List 11

Research method L.
Characteristic

A. Content analysis . Summarisation

B. Social network analysis ll. Use of bipolar adjectives

C. Semantic differential lll. Focus on dyadic relations

D. Meta analysis V. Context unit

Choose the correct answer from the options given below:
1) A-ILB-1ILC-1IV,D-1
(2) A-IV,BE-NIILC-1,D-1
B A-1LE-ILC-1L,D-IV

4) A-lILE-IV,C-1,D-1

Tt -1 B et -1l G gaferd Sifor :

Tl -| gl -1

HGYH fafe EEIGID]

A, 3idd¥] fazagu . e

B. reIford "ead (ATa) fazem 1. fge[dl fa=imort &1y
C. 3t [aed 1. e 1g Teef R ad
D. HeT fa=amu v. gey Ion

i feu e fadsedl o O Oel 3w g :

1) A-ILB-ILC-1V,D-1
(2) A-IV,BE-IIILC-1, D-1
3 A-LE-ILC-1I, D-IV

(4) A-NILE-IV,C-1, D-1

1[Option ID=23717]
2[Option ID=23718]
3[Option ID=23719]
4[Option ID=23720]




SI. No.16
QBID:344705

In a classroom, an effective listener

(1) Resists distractions
(2) Seeks diversions
(3) Prefers message filtering

(4) Judges the message delivery style

T4l H&T | Uob WHId! 4l :

(1) & 471 8H &I UfcRly Sl &

(2) fageaEars

(3) TCX B WA ((Peex) B UUE Bl &
(4) T3 Ul Al @l e Bidl &

1[Option ID=23725]
2[Option ID=23726]
3[Option ID=23727]
4[Option ID=23728]

Sl. No.17
QBID:344708

The two-way, face-to-face communication is technically referred to as

(1) Level one
(2) Level two
(3) Level three

(4) Level four

AT AT - Y- YN dd-is] €4 4 69 UeR dafild fear o e 2

(1) ¥R -TdH
(2) TR -al
(3) & -dH
(4) &R -dR

1[Option ID=23733]
2[Option ID=23734]
3[Option ID=23735]
4[Option ID=23736]

Sl. No.18
QBID:344715




From the communication perspective, which of the following variables distinguish one
culture from another?

A. Learning skills

B. Time sense

C. Level of gratitude
D. Level of honesty

Choose the correct answer from the options given below:

(1) AandBonly
(2) B and Conly
(3) Cand D only
(4) Aand D only
fFrafaiad o 9 &F ¥ =R 9990 & URUET H U WRpid ¥ 30 ¥Ppid & He P 6 7
A. T BRI

B. g Y

C. Pasidl &I &R

D. SHFGR] & WX

I feu e fasheal § 9 981 S g -

(1) Had A IR B
(2) &ad B AR C
(3) ©AAC IR D
(4) TadA IR D

1[Option ID=23741]
2[Option ID=23742]
3[Option ID=23743]
4[Option ID=23744]

Sl. No.19
QBID:344855




Given below are two statements:
Statement I: Small group communication fulfills the relationship needs.
Statement II: However, small group communication does not serve task-related needs.

In light of the above statements, choose the correct answer from the options given
below

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

EIERAKCIE AR
B - | : 7Y T GG Y&Y B T drsi @1 gfd & gl

T - |11 ; TR off, 1Y TE vumv &1 T GafiT sraxg@mars &f gid el ol
JWad DYl & 3ciie | FEfad faeddl 3 9 96 IR I

(1) Y| AR I GHI FA B

(2) Y| AR 1 GF HTT |

(3) BY I G B, [ Y 1| HTTE |
(4) DU | AT B, g Y 11 T B

1[Option ID=23749]
2[Option ID=23750]
3[Option ID=23751]
4[Option ID=23752]

Sl. No.20
QBID:344863
Which of the following are the functions of media as related to their audiences?
A. Creation of passive longing for media products
B. Omnivorous devouring of media content
C. Compensation through identification
D. Vicarious wish fulfillment

E. Sources of suggestion for appropriate role

Choose the correct answer from the options given below:




(1) A, BandC only
(2) B, Cand D only
(3) A BandEonly

(4) C,DandE only
fFrafafad @ ¥ Hifsr & oH ¥ o1 €, 5 390 4T - e i Hsfaa 8 2

A. HiIfST1 Idrel & foT [F%pa =U  Areidd i
5. HifSar fawaayg &1 Gafer Jmera

C. UgdH & H1=d ¥ &fagfd

D. Ufr=i-ieh 3=31 gfd

E. SUYdd YW o [T gA1d & Hid
d feu e fasedl & O G981 SR g -

(1) DI A, B AR C
(2) Pad B, C AR D
(3) Padi A BARE
(4) Hac C, D ARE

1[Option ID=23757]
2[Option ID=23758]
3[Option ID=23759]
4[Option ID=23760]

Sl. No.21
QBID:344865

Find the missing term in the series given as:

4,6, 12,14, 28, 30, 7

(1) 32
(2) 36
(3) 52
(4) 60

&1 75 4@ H O UG 91d dIfod -
4 6,12, 14, 28, 30,7

(1) 32
(2)




36
(3) 52
(4) 60

1[Option ID=23765]
2[Option ID=23766]
3[Option ID=23767]
4[Option ID=23768]

Sl. No.22
QBID:344869

In a certain code, QO iswrittenas E, AasC Mas|, SasO, MasP, EasM,las A Pas N
and C as 5, then how will COMPANION be written in that code?

(1) SEINCPAEP
(2) SENCIAPEP
(3) SENCPIAPE
(4) SNEIPCAPE

G AT BISH OBIEABICMBIL,SDHIO,NDIP,EDIM, IBIAPHINIRCHIS
forar 9T ©, 91 59 &I § COMPANION & &4 forRar S 2

(1) SEINCPAEP
(2) SENCIAPEP
(3) SENCPIAPE
(4) SNEIPCAPE

1[Option ID=23773]
2[Option ID=23774]
3[Option ID=23775]
4[Option ID=23776]

Sl. No.23
QBID:344872

In a class of 43 students, Aashman's rank is 16" from the bottom. What is his rank from
the top?

(1) 28
(2) 27
(3) 26
(4) 29
43 B DI U D&l H HH &1 3b - U 1641 81 HUR U IYSDI Id [docH1 BRI ?

(1) 28




(2) 27
(3) 26
(4) 29

1[Option ID=23781]
2[Option ID=23782]
3[Option ID=23783]
4[Option ID=23784]

SI. No.24
QBID:344880

A pipe can fill a water tank three times as fast as another pipe. If both are used together,
these can fill the tank in 36 minutes. How much time will be taken by the slower pipe
alone to fill the tank?

(1) 192 minutes
(2) 108 minutes
(3) 144 minutes

(4) 160 minutes

U USU UM & ¢ &l g8 UIRY U o 7T ool & 1R Gl | afc a1 o3l &1 JanT
g U ST Al d S DI 36 TS H *R TN S il i aTe Urgy o bl 1R |
o gag o 2

(1) 192 e

(2) 108 fH=e

(3) 144 fHAE

(4) 160 92

1[Option ID=23789]
2[Option ID=23790]
3[Option ID=23791]
4[Option ID=23792]

SI. No.25
QBID:344882

A retailer buys 40 pens at the marked price of 36 pens from a wholesaler. If he sells
these pens giving a discount of 1 9%, what is the profit percentage?

(1) 12
(2) 15
(3) 20
(4) 10




U PHedR [dshdl - 40 U DI Ui fashdl U 36 U4 & 3ifdhd HId W @all 31 98 39 U4
Dl 1% 9 (F¢) W ogdl 8, dl IHb1 arH Uid=Id &1 8 2

(1) 12
(2) 15
(3) 20
(4) 10

1[Option ID=23797]
2[Option ID=23798]
3[Option ID=23799]
4[Option ID=23800]

Sl. No.26
QBID:344886

If the statement 'No birds are mammals' is given as true, what could be immediately
inferred from it ?

A.All birds are mammals' is false

B. "Some birds are mammals’ is false

C. 'Some birds are not mammals’ is false
D. ‘'Some birds are not mammals’ is true

Choose the correct answer from the options given below:

(1) A, Band Conly
(2) A, Band D only
(3) AandD only
(4) Aand Conly

g iy ®is v uall TauRt 98l & O fear 71 ¢, df dab el ol HIHH T o
qhal g ?

A G TET YR BId § © 30 ©

B. P3 U WU B & * 3T &

C. D% Vel YR el gld © ' A &
D. PO UM THYRI TeIgid & ' I 3
4 fRu U o edl 5 9 981 I 9 -

(1)




®dd A, B 3R C
(2) DHAAA, B AR D
(3) Bad A 3R D
(4) Sad A AR C

1[Option ID=23805]
2[Option ID=23806]
3[Option ID=23807]
4[Option ID=23808]

Sl. No.27
QBID:344889

"XYZ Home Finance offers best financial product in the country because like a family
member and a good friend XYZ Home Finance fulfills your need to have your own sweet
home". Which of the following fallacies is committed in this argument?

(1) Ad Populum
(2) Ad Hominem
(3) Hasty Generalisation
(4) Red Herring

"XYZ 311 G129 ¢¥ § Gy dedk [adid Idie Judsl Hdl &, dlifd XYz Uh URaie®
UG Ud U 37w 0 & U H YD AT TR EH &1 HaGdd dI R Bl ol " 39
b o Fiiiad R &1 garyd Hadi & ;

(1) TS UigaH

(2) TS EIHH

(3) =Y GHTHI
(4) 38R

1[Option ID=23813]
2[Option ID=23814]
3[Option ID=23815]
4[Option ID=23816]

Sl. No.28
QBID:344891
Given below are two statements :
Statement I: "Some S is P' is contrary to 'Some S is not P".

Statement II: "Some S is not P’ is contradictory to "All S is P".

In light of the above statements, choose the correct answer from the options given
below :




(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

R A BYTRUMLE:

Y- 1TSS, Po, PSS, PTel o @I AGiard® &

DY - 1l : P S, PRI &, GHI S, P & BT I B

Suddd HYAl B D H FEftied el # 9 981 3R 94 -

(1) FY | AR 11 GH TA B

(2) Y1 AR 11 THT AT B

(3) DY |1 Td B, T FY 11 ATT B
(4) BYA | YT 8, fog DY 1| T B

1[Option ID=23821]
2[Option ID=23822]
3[Option ID=23823]
4[Option ID=23824]

Sl. No.29
QBID:344907

Given below are two statements :-

Statement I: For the Indian thinkers, inference (anumana) means only a syllogistic
inference based on the relation of invariable concomittance between middle term and
major term.

Statement ll: There should be absence of the middle term wherever there is an absence
of the major term.

In light of the above statements, choose the correct answer from the options given
below :-

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true




HYH - | : HRAY [dddl & AT s/ aF &1 o ddd IRaaE® 3-AH 6, 9 79 UG 3R
T3 Ue & did 3URadl Ggdiddl Heae O HTed |

HYH - 1| : Sigl wigl H UG &I U B, 98] A9 Ug Siuieyd giH1 d1fgy|
STd Pyl & e H Faftiad fgoal § 3 981 I 94

(1) BT 3R I GH T B

(2) @Y1 R 11 GF HTT B

(3) DY A B, [ DY 11 3T © |
(4) DU | ST &, foog HYH 11 T B

1[Option ID=23829]
2[Option ID=23830]
3[Option ID=23831]
4[Option ID=23832]

Sl. No.30
QBID:344913

Given below are two statements:

Statement I: According to Classical Indian Logicians (Naiyayikas) the inference from the
effect of the cause is called Purvavat.

Statement II: According to Naiyayikas the inference of cause from the effect is not
possible.

In light of the above statements, choose the correct answer from the options given
below:

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

U - | : HRST TR TG (1) F 18R H1 T HRO &1 70H Tdad
Feddl !

BT - || : TRD! & TR T ° RO ST A T4 T2l 8
W PYHl & Hdid H FEfiied faed 7 9 9% S| I ;




(1) Hy= | R 1 G T 2|

(2) @Y AR 1 GF HTT |

(3) DY G B, [ DY 11 3T © |
(4) Y| AT ¢, o< P 11 T B

1[Option ID=23837]
2[Option ID=23838]
3[Option ID=23839]
4[Option ID=23840]

Sl. No.31
QBID:344974

Given below are two statements, one is labelled as Assertion A and the other is labelled

as Reason R.

Assertion A : In computer networking, a MODEM is considered as both input and

output device.

Reason R : MODEM sends data (upload/output) and receives data (download/input) at
the same time.

In light of the above statements, choose the correct answer from the options given

below:

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A
(3) Ais true but R is false
(4) Ais false but Ris true
T Y QUM T : U ol ANFHYF (A) AR T B BRI (R) Bl T B

T

HHDY (A) : R i H AlSH I 39 AR H3eYe f5asy eHl & ©u d JH1]
EIGIE

®RUI (R) : AISH Sel (HUAS / 33ege) Holdl & 3R I 95T Sl (S8-als / 37Y2) U
Hedl

Iudad dYAl & D | HHiied [deedl § 9 98 Iu 9 -

(1) (A) 3R (R) GHI T8I & 3R (R), (A) DI eI HRAT &

(2) (A) 3R (R) G UL & U (R), (A) DI Te! ARAT Tl o
(3) (A) Id T, IR (R) HTI B

(4) (A) 39d B, U] (R) S B |

1[Option ID=23845]




2[Option ID=23846]
3[Option ID=23847]
4[Option ID=23848]

Sl. No.32
QBID:344977

Programs that come into a computer system disguised as something else, are called:

(1) Trojan horses
(2) Viruses

(3) Web bugs
(4) Zombies

Sl U Ueh e} e o fhdl 3 SUd% & ©4 § YD Bid &, 3¢ dol Al & :

(1) 2o gla
(2) TR
(3) 99 &7
(4) SIES

1[Option ID=23853]
2[Option ID=23854]
3[Option ID=23855]
4[Option ID=23856]

Sl. No.33
QBID:344981

You have been instructed to install additional RAM into a computer by your teacher.
Identify the correct order of the following steps A-C that you should follow to install the
RAM safely.

A. Install RAM
B. Isolate computer from the power supply
C. Connect anti-static strap to wrist

Choose the correct answer from the options given below :

(1) A B C
(2) CAE
(3) B A C
(4) B,C A




HIqdh & = 9! ol gex | SHfaRad Y (RAM) DI TRIIUT &3 @1 o a1 o
Fafafad 9ol (a.-C) & Tel HH 1 UgdH DITold forgaT 0k gRI Y1 @I Giad €0 9
TRTTYd S o g uTed foedn 9T 9nfed|

A. 3T (RAM) BT GRIT0T BT

B. e DI UG J@ils U Hei HAl
C. TR W U - Wid® d8 gigA
e feu e fasedl © O Ol SR g -

(1) A B C
(2) CAE
(3) B A C
(4) B,C A

1[Option ID=23861]
2[Option ID=23862]
3[Option ID=23863]
4[Option ID=23864]

Sl. No.34
QBID:344983

Given below are two statements :

Statement I: SWAYAM initiative is a significant step towards providing financial and
technical assistance to young start-up entrepreneurs.

Statement II: The tagline of Digilocker logo says "My Documents, Anytime, Anywhere”.

In light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true




EIERARICRTAE
DY - | : TGOH' Ugd gdl wIe U IeIfad ol fawiig iR da-iid! Geradl UaH & &l e
o U® HeayUl HeH gl

HU - 11 TSR QT &1 ST s Pl T &« - “HTS SIagHcy, THIeRH, TiRsR”
Hyld "I exarde, fodl ot 9oy, @el i

Sudad DA B 1ciid H FHiRad fasedl § 4 98l SR g -

(1) BT R I G T B

(2) @Y1 AR 11 GH HTT B

(3) DY A B, [ DY 11 3T © |
(4) DU | ST &, foog HY 11 T B

1[Option ID=23869]
2[Option ID=23870]
3[Option ID=23871]
4[Option ID=23872]

Sl. No.35
QBID:344987

Match List | with List 11

List | List 11

Computer Term
P Definition

. Wireless technology used for transmitting data over short

A, Spyware ,
Py distances
. Il. Software that allows the user to gain information about
B. Firewall . o
another person's computer activity
lll. An attack on a network which involves flooding the
C. Bluetooth , ,
network with useless traffic
0. Denial of service IV. Hardware or software designed to protect a network by

controlling what data can and cannot enter

Choose the correct answer from the options given below:

(1) A-lILB-IV,C-1,D-1I
2) A-IV,BE-IILC-1I,D-I
G) A-LLE-IV,C-II,D-11
4) A-ILBE-IV,C-1,D-1I




. . [ R ST Hd1d - & (oY 3YGNT & o
pi TIRR agﬂ:gaﬂﬁﬁjﬁﬁrﬁ‘mﬁ

1. QITREdER Sl SUGRThd! Bl fdhdl = Hldd & IR
HEA &1 Ga-1 U &3 & (U AR ¢dl o

1. foodt Head ue g9a, forad aad & ararrd @

B. BBIERAId

C e JATETE |

o AT V. BTSdTR 1 HIrEatR, S U Hedd $i Tal o fag

ﬁﬁ T T 5, S 521 & UIdP I1 7 Uiay 8 9&- & FafEd
P @)

e feu e fadeal & € Tl S| gL

() A-ILB-IV,C-1, D-1I
2) A-IV,BE-ILC-1I, D-1
) A-LE-INV,C-I, D-1N

4) A-ILBE-IV,C-I, D-1N

1[Option ID=23877]
2[Option ID=23878]
3[Option ID=23879]
4[Option ID=23880]

Sl. No.36
QBID:344989

Which of the following air pollutants is known to be a human carcinogen?

(1) Carbon monoxide
(2) Asbestos fiber
(3) Nitrogen dioxide

(4) Sulphur dioxide

AT 5 ¥ @ I U ® A H $IR &1 HRU &4 Thdl 6 ?

(1) PlEA dHEEES
(2) TR

(3) Ao SEAHEES

(4) T SRS

1[Option ID=23885]
2[Option ID=23886]




3[Option ID=23887]
4[Option ID=23888]

Sl. No.37
QBID:344990

Which region of India experiences the maximum number of cyclones?

(1) East Coast

(2) West Coast

(3) Central India

(4) Northern India

YRA & S 4 &5 F Iehdld Faiids TS H8ld 8 2
(1) gdigre

(2) uigH gre

(3) HE Hd

(4) I HRd

1[Option ID=23893]
2[Option ID=23894]
3[Option ID=23895]
4[Option ID=23896]

Sl. No.38
QBID:344992
Which of the following statements about biodiversity are correct?
A. Biodiversity can support ecosystem stability.
B. Human activities have sharply increased species extinctions.
C. Habitat fragmentation has no adverse impact on biodiversity.

D. About 70 % of all known species are invertebrates.

Choose the correct answer from the options given below:

(1) A BandConly
(2) A BandD only
(3) B, Cand D only
(4) A CandD only




FomerEidadoe - MRy F IR dd U g8l & 7
A, TRRufa®! & =@ § wid [afqudr 98a® gl & |

B. A4 Tiafafidr 3 el & fagudr of ol 9 gel fedr 3|

C. Ul G & fads &1 old - fafdedr i &g g8Ivd el Usdl o
D. TRTHAT 70 Ufa=id Wellfaai Sygasi g<afcse) g

- feu g faed! & @ Wel S 94 ;

(1) DI A, B AR C
(2) PHad A, B3ARD
(3) Pad 8, C AR D
(4) PHad A, C 3R D

1[Option ID=23901]
2[Option ID=23902]
3[Option ID=23903]
4[Option ID=23904]

SI. No.39
QBID:344995

Identify the major sources of methane emissions:
A. Landfills

B. Mountain rivers

C. Paddy fields

D. Wetlands

Choose the correct answer from the options given below:

(1) A, Band Conly
(2) B, Cand D only
(3) A BandD only

(4) A CandD only




HIU 3o & WHE Fidl DI Ugaiy
A. TS fthet

B. Gddiiy Afearl

C. 4 & Wd

D. WiciHY HH

- feu e fased! & 9 Wel SR 94 ;
(1) HATA B IR C

(2) HaTB, CHRD

(3) BAT A, B AR D
(4) TITA, C I D

1[Option ID=23909]
2[Option ID=23910]
3[Option ID=23911]
4[Option ID=23912]

Sl. No.40
QBID:344997

Match List | with List 11

List |

List Il

Objectives/Provisions

International treaties/Agreements

A. Emissions Trading

. Paris Agreement

B. Sustainable Management of Resources

Il. Kyoto Protocol

C. Clean affordable energy

ll. International Solar Alliance

D. Intended Naticnally Determined
Contributions

V. Rio Summit

Choose the correct answer from the options given below:

1) A-ILE-IV,C-1,D-1I
(2) A-ILB-IV,C-1Il,D -1
G A-LE-INV,C-U,D-
(4) A-LE-INV, C-I1L,D-1




gl -1 Dl Gt -1 § Gl difd ;

T -| -1l

(35T / WG (SFRIPT wieat / gHgid )
A. I AR . ORg gagian

B. TUIEHT &1 Uold ey 2 IENIEEIG

C. WS de-1g FHoll 1. SFRIFT TR TEaEH
D. 3FSd WM AR R AeiRa ame v, el RRrer gia

i feu e fadedl o € Oal 3R gL :

1) A-ILE-IV,C-1,D-1I
(2) A-I,B-IV,C-1ll, D-1
G A-LE-INV,C-U,D-
4) A-LE-IV, C-1L,D-1

1[Option ID=23917]
2[Option ID=23918]
3[Option ID=23919]
4[Option ID=23920]

Sl. No.41
QBID:344999

Who is fully credited with the introduction of English education system in India, officially

through the necessary order issued by Bentinck, the Governor-General of India on 7t
March 18357

(1) Zachary Macaulay
(2) Thomas Babington Macaulay
(3) Alexander Duff

(4) Charles Trevelyan

FofaRad o O feas! 7 9 1835 &I YRd & 7161 - F-Rd sfe-d gl 9 [y 70
HIGRGS G & H1H § ASRE €U Y YR § 3= e Ui ar] & & quf 49
G g 2

(1) FHRIHABId

(2) YA dfeed daid

(3) Toigai3l 3%

(4) T dacdH

1[Option ID=23925]
2[Option ID=23926]
3[Option ID=23927]
4[Option ID=23928]




Sl. No.42
QBID:345001

Which University did Xuang Zang and | Quing visit in India?

(1) Nalanda University
(2) Takshashila University
(3) Banaras Hindu University

(4) Vikramshila University

ST T 3R TS R Fgfiad ¥ 9 g fayfaeeg § s g 2

(1) Hcicl fyfaeem

(2) deiran fgyfaema
(3) SRY g fayfaenaa
(4) faspAfe fayfdarm

1[Option ID=23933]
2[Option ID=23934]
3[Option ID=23935]
4[Option ID=23936]

Sl. No.43
QBID:345002

NSSF, as envisaged by the National Knowledge Commission, stands for

(1) National Science and Social Science Foundation
(2) National Scientific and Social Science Foundation
(3) Mational Scientists and Social Scientists Foundation

(4) National Space Science and Society Forum

RIS T SR RTINS 0d T T T U6 & R AH B ;

(1) =T 924 U3 9I=E 959 BldogH

(2) S¥FT GEfF® IS OEd 95d BrdagH
(3) J¥Fd Irefeey U 9ed UiEfewey BreegH
(4) ==HT Y TEY TS e BRA

1[Option ID=23941]

2[Option ID=23942]

3[Option ID=23943]
4[Option ID=23944]

Sl. No.44
QBID:345679




As per NEP 2020, National Educational Technology Forum (NETF) will have following
functions:

A. Provide independent evidence-based advice to central and state government
agencies in technoclogy-based interventions

B. Articulate new directions for research and innovation

C. Envision strategic thrust area in the educational technology domain

D. Develop curriculum for technical courses

E. Build intellectual and institutional capacities in educational technology

Choose the correct answer from the options given below:

(1) A B, CandD only
(2) B,C,Dand E only
(3) A B CandEonly

(4) A, B, DandE only

U5 U 2020 & STHR TFE A Wi BRA (@15 41 Th) & P d a9
s Bl 2

A. TRNET - 3nenfyd Ugdt & e H $erg ok g & Toliadl & 9187 - Menfd Waaa
OcTe UaH &l

B. T4 3R 399 & U AR &I JEP BT

c. fé@ Ueifie! & &7 § WHITde €9 ° T2 faud -a3f &1 aRkdea1 He1
D. Th-ilc! UTGTsHHI o 1T UTeddal famied A1

. Qe tiefiet H difae ud SR aHaret o Faf

4 feu e fawed! & 9 wel I 94 -

(1) Pad A, B, C AR D
(2) $ad B, C, D ARE
(3) Bad A, B, C3RE
(4) Hac A, B, D ARE

1[Option ID=23949]
2[Option ID=23950]
3[Option ID=23951]
4[Option ID=23952]




Sl. No.45

QBID:345682
The following are the main objectives of curriculum revision:
A. To align it better with vision and mission of the institution

B. To make it learning outcome based

C. To make it more effective in improving attainment levels against programme

outcomes
D. To develop capacities of students for competitive examination
E. To meet the expectations of all stakeholders

Choose the correct answer from the options given below:

(1) A B, CandD only
(2) A B CandEonly
(3) A C DandEonly
(4) B, C,Dand E only

Profifed 3 % B O o SeitE ¥ ger SRR ¥ 2

A, TR @I gRef® (faem) ok BRH & 0 4 dedt ©U 4 ey
A

B. HTERTH &1 UROME - 3uTid §=1

C. BIHY & IR & go-l H wR UIftd & QuR T 3ffdd uyrdl
GEIE]

D. UfadiRTt uRi&natt & foit St ©f amdrst & fabiid d3-
E. G fedeRe! @1 uanst ol gid A1
< fGu T faseal © ¥ 98 S 9 -

(1) DI A, B, C 3R D
(2) HaAdA, B, C3RE
(3) Bad A, C, D 3RE
(4) Had 8, C, D ARE

1[Option ID=23957]
2[Option ID=23958]
3[Option ID=23959]
4[Option ID=23960]




Sl. No.46
QBID:345666




Read the given passage carefully and answer the five questions that follow:

Many great inventions are initially greeted with ridicule and disbelief. The invention of the
airplane was no exception. Although many people who heard about the first powered
flight on December 17, 1903, were excited and impressed, others reacted with peals of
laughter. The idea of flying an aircraft was repulsive to some people. Such people called
Wilbur and Orville Wright, the inventors of the first flying machine, impulsive fools.
Negative reactions, however, did not stop the Wrights. Impelled by their desire to
succeed, they continued their experiments in aviation.

Orville and Wilbur Wright had always had a compelling interest in aeronautics and
mechanics. As young boys, they earned money by making and selling kites and
mechanical toys. Later, they designed a newspaper-folding machine, built a printing
press, and operated a bicycle repair shop. In 1896, when they read about the death of
Otto Lilienthal, the brothers’ interest in flight grew into a compulsion.

Lilienthal, a pioneer in hang-gliding, had controlled his gliders by shifting his body in the
desired direction. This idea was repellent to the Wright brothers, however, and they
searched for more efficient methods to control the balance of airborne vehicles. In 1900
and 1901, the Wrights tested numerous gliders and developed control techniques. The
brother's inability to obtain enough lift power for the gliders almost led them to abandon
their efforts.

After further study, the Wright brothers concluded that the published tables of air
pressure on curved surfaces must be wrong. They set up a wind tunnel and began a series
of experiments with model wings. Because of their efforts, the old tables were repealed in
time and replaced by the first reliable figures for air pressure on curved surfaces. This
work, in turn, made it possible for the brothers to design a machine that would fly. In
1903, the Wrights built their first airplane, which cost less than $1,000. They even
designed and built their own source of propulsion-a lightweight gasoline engine. When
they started the engine on December 17, the airplane pulsated wildly before taking off.
The plane managed to stay aloft for 12 seconds, however, and it flew 120 feet.

By 1905, the Wrights had perfected the first airplane that could turn, circle, and remain
airborne for half an hour at a time. Others had flown in balloons and hang gliders, but the
Wright brothers were the first to build a full-size machine that could fly under its own
power. As the contributors of one of the most outstanding engineering achievements in
history, the Wright brothers are accurately called the fathers of aviation.




frafafad Teia ot wrgds ufey ofR g e usl & s s

d95d 4 93 ARl &l URH H ¥y 3R SUsH &1 H-T 31 USdl g1 gdlg oigid @l
JfaspR i sudrg 78T 4Tl gt 9gd ¥ Afddl 4 99 17 fGHaR 1903 @I Ugal Aidagad
JeH & aR § T df d Jdifera 3R wyifdd gU W= dedl 4 24l & seld! 4 ufdfear dl|
dIgaH 1 IeF &I [daR & dfeadl ol udia o1, U8 wufdaal 4 ugdl SsH 924 &
HiTHR®!, fdvar 3R Rfad U I M T PR fedl , W] TdRIEAS Ylafshan
USST BI AD ol b1 | U AT B Ihd D DI Uad 3a81 U 3= [d9H4 & UarT
@I SRl T

faea iR RIad U5 3 gHzn ¥ fauH fage ok 33 fagm o gHies o 4 Sed sie
as?ﬁﬁa“rﬁuﬁﬁa?ﬁmﬁﬁ@ﬁﬁwm{advﬁaﬂmaﬂ?aﬁﬂmﬁﬂlmﬁBv?;ﬁ
TOER e @l ars+ aqrail == G| O] GEIFS
&0 U & (i fosgn SR dsusdd TWd @1 goF & uRdlfad f&ar 1896 H, o
IoH 3MME! fociyd & g & aR & gl df I5e syt &1 ISH H TeRew Fd 8l TR
forcue 87 TaRfET & 3G Uy UGRid + 30+ TR @ aieqig B3 ¥ ®ERd #d
sy &l MO far U1l g9l g8 f9uR Ige §Y3i & O fdaue ol 3= fqaH-aied
dreAl & o @I [HEau & oY 3ifte Sriam Ot & 9R § SHSRI WK S 1900 3R
1901 H, ATy 7 4B Toged (FUUo) & WRig0 el AR FEau ae-ie! of e
oAl Tesd I UUia ST &l UaH 34 ®1 SHddl 3 HIZdl & T G
DI Bl Bl DI 3R 3 B2 a1 T

IR S HGIH & 91 A §Y H Fpy Fdral e 9% g8 W 9 gdid S YRR
it Figd IR 9= 7Ted gFi S U aig & U &1 ~Ifud & iR ufaws gt
T T &1 U Gal URY BT 39 TRl & SR G0 & Y AT difcsd A &1 T
YT 39 R R 9% ¥ IR a1 G149 & (a4 Ued [ay-d fids fod U1 39 &1 & B
oY gy ST gR1 U H3H &1 HHSH dOR T GHd g3 &l 38 Thdl il 1903 H
3¢ YAl 3 Ugdl g -1 ford! TRt 1000 SioRk 4 &H 411 361 304 W@ & Fid
grd FIgA - TP ged YR ard e 2o @f ufaey Wt dar & ik B fean 59
I+ fedaw 17 @l 399 URY o df SSH € Usd arggH | ddg®n & gl fie of
dIgd 12 b3 dd HUR WaHH T8l 3R 120 He 33

1905 T 3¢y - Ugdl i o a1 G&f B [odl Ul fdb 98 Ueb 95 | Ho 1, TH1 d 318
H¢ O gdl H X8 9l YTl GERI H TR 3R 87 cgsd H 3o H o, i Wge d¢ ugd
¥ fogi- qul offeR @1 9319 &-1% 4t i fdh oot 2idd T IS Iabal 4 3fae o oafis
faf2ry sfiEite Sudled o ReM ¢4 & HRUT ASE 943 I a-gIH dIeH &1 T Hel
ST aifid 3uged o

Which of the following was responsible for the invention of the first flying machine?

(1) People's support
(2) Negative reactions of the people

(3) Compelling desire of the inventors




(4) Previous experiments in aviation

Fafeied & 9 yyH I arell A & TR o fe7Y o1 SwRar 41 2

(1) Al Bl Jfdcid

(2) Gl &I TeRIED Uldfehan
(3) SHASHRBI DI SUfcRIL S{fHamT
(4) TaAMA  gdad! wan

1[Option ID=23965]
2[Option ID=23966]
3[Option ID=23967]
4[Option ID=23968]

Sl. No.47
QBID:345668




Read the given passage carefully and answer the five questions that follow:

Many great inventions are initially greeted with ridicule and disbelief. The invention of the
airplane was no exception. Although many people who heard about the first powered
flight on December 17, 1903, were excited and impressed, others reacted with peals of
laughter. The idea of flying an aircraft was repulsive to some people. Such people called
Wilbur and Orville Wright, the inventors of the first flying machine, impulsive fools.
Negative reactions, however, did not stop the Wrights. Impelled by their desire to
succeed, they continued their experiments in aviation.

Orville and Wilbur Wright had always had a compelling interest in aeronautics and
mechanics. As young boys, they earned money by making and selling kites and
mechanical toys. Later, they designed a newspaper-folding machine, built a printing
press, and operated a bicycle repair shop. In 1896, when they read about the death of
Otto Lilienthal, the brothers’ interest in flight grew into a compulsion.

Lilienthal, a pioneer in hang-gliding, had controlled his gliders by shifting his body in the
desired direction. This idea was repellent to the Wright brothers, however, and they
searched for more efficient methods to control the balance of airborne vehicles. In 1900
and 1901, the Wrights tested numerous gliders and developed control techniques. The
brother's inability to obtain enough lift power for the gliders almost led them to abandon
their efforts.

After further study, the Wright brothers concluded that the published tables of air
pressure on curved surfaces must be wrong. They set up a wind tunnel and began a series
of experiments with model wings. Because of their efforts, the old tables were repealed in
time and replaced by the first reliable figures for air pressure on curved surfaces. This
work, in turn, made it possible for the brothers to design a machine that would fly. In
1903, the Wrights built their first airplane, which cost less than $1,000. They even
designed and built their own source of propulsion-a lightweight gasoline engine. When
they started the engine on December 17, the airplane pulsated wildly before taking off.
The plane managed to stay aloft for 12 seconds, however, and it flew 120 feet.

By 1905, the Wrights had perfected the first airplane that could turn, circle, and remain
airborne for half an hour at a time. Others had flown in balloons and hang gliders, but the
Wright brothers were the first to build a full-size machine that could fly under its own
power. As the contributors of one of the most outstanding engineering achievements in
history, the Wright brothers are accurately called the fathers of aviation.




frafafad Tei ot wrgds ufey ofR g 7e usl & I s

d95d 4 93 ARl &l URH H ¥y 3R SUsH &1 H-T 31 USdl g1 gdlg oigid @l
JfaspR i sudrg 78T 4Tl gt 9gd ¥ Afddl 4 99 17 fGHaR 1903 @I Ugal Aidagad
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dIgaH 1 IeF &I [daR & dfeadl ol udia o1, U8 wufdaal 4 ugdl SsH 924 &
HiTHR®!, fdvar 3R Rfad U I M T PR fedl , W] TdRIEAS Ylafshan
USST BI AD ol b1 | U AT B Ihd D DI Uad 3a81 U 3= [d9H4 & UarT
@I SRl T

faea iR RIad U5 3 gHzn ¥ fauH fage ok 33 fagm o gHies o 4 Sed sie
as?ﬁﬁa“rﬁuﬁﬁa?ﬁmﬁﬁ@ﬁﬁwm{advﬁaﬂmaﬂ?aﬁﬂmﬁﬂlmﬁBv?;ﬁ
TOER e @l ars+ aqrail == G| O] GEIFS
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The major interest of Wright brothers was in

(1) Making kites
(2) Producing mechanical toys

(3) Designing newspaper-folding machines




(4) Methods to control airborne vehicles
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Read the given passage carefully and answer the five questions that follow:

Many great inventions are initially greeted with ridicule and disbelief. The invention of the
airplane was no exception. Although many people who heard about the first powered
flight on December 17, 1903, were excited and impressed, others reacted with peals of
laughter. The idea of flying an aircraft was repulsive to some people. Such people called
Wilbur and Orville Wright, the inventors of the first flying machine, impulsive fools.
Negative reactions, however, did not stop the Wrights. Impelled by their desire to
succeed, they continued their experiments in aviation.

Orville and Wilbur Wright had always had a compelling interest in aeronautics and
mechanics. As young boys, they earned money by making and selling kites and
mechanical toys. Later, they designed a newspaper-folding machine, built a printing
press, and operated a bicycle repair shop. In 1896, when they read about the death of
Otto Lilienthal, the brothers’ interest in flight grew into a compulsion.

Lilienthal, a pioneer in hang-gliding, had controlled his gliders by shifting his body in the
desired direction. This idea was repellent to the Wright brothers, however, and they
searched for more efficient methods to control the balance of airborne vehicles. In 1900
and 1901, the Wrights tested numerous gliders and developed control techniques. The
brother's inability to obtain enough lift power for the gliders almost led them to abandon
their efforts.

After further study, the Wright brothers concluded that the published tables of air
pressure on curved surfaces must be wrong. They set up a wind tunnel and began a series
of experiments with model wings. Because of their efforts, the old tables were repealed in
time and replaced by the first reliable figures for air pressure on curved surfaces. This
work, in turn, made it possible for the brothers to design a machine that would fly. In
1903, the Wrights built their first airplane, which cost less than $1,000. They even
designed and built their own source of propulsion-a lightweight gasoline engine. When
they started the engine on December 17, the airplane pulsated wildly before taking off.
The plane managed to stay aloft for 12 seconds, however, and it flew 120 feet.

By 1905, the Wrights had perfected the first airplane that could turn, circle, and remain
airborne for half an hour at a time. Others had flown in balloons and hang gliders, but the
Wright brothers were the first to build a full-size machine that could fly under its own
power. As the contributors of one of the most outstanding engineering achievements in
history, the Wright brothers are accurately called the fathers of aviation.
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The Wright brothers succeeded in

(1) Testing numerous gliders
(2) Proving previous air pressure tables wrong

(3) Setting up a wind tunnel




(4) Finding desired direction for gliders
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Read the given passage carefully and answer the five questions that follow:

Many great inventions are initially greeted with ridicule and disbelief. The invention of the
airplane was no exception. Although many people who heard about the first powered
flight on December 17, 1903, were excited and impressed, others reacted with peals of
laughter. The idea of flying an aircraft was repulsive to some people. Such people called
Wilbur and Orville Wright, the inventors of the first flying machine, impulsive fools.
Negative reactions, however, did not stop the Wrights. Impelled by their desire to
succeed, they continued their experiments in aviation.

Orville and Wilbur Wright had always had a compelling interest in aeronautics and
mechanics. As young boys, they earned money by making and selling kites and
mechanical toys. Later, they designed a newspaper-folding machine, built a printing
press, and operated a bicycle repair shop. In 1896, when they read about the death of
Otto Lilienthal, the brothers’ interest in flight grew into a compulsion.

Lilienthal, a pioneer in hang-gliding, had controlled his gliders by shifting his body in the
desired direction. This idea was repellent to the Wright brothers, however, and they
searched for more efficient methods to control the balance of airborne vehicles. In 1900
and 1901, the Wrights tested numerous gliders and developed control techniques. The
brother's inability to obtain enough lift power for the gliders almost led them to abandon
their efforts.

After further study, the Wright brothers concluded that the published tables of air
pressure on curved surfaces must be wrong. They set up a wind tunnel and began a series
of experiments with model wings. Because of their efforts, the old tables were repealed in
time and replaced by the first reliable figures for air pressure on curved surfaces. This
work, in turn, made it possible for the brothers to design a machine that would fly. In
1903, the Wrights built their first airplane, which cost less than $1,000. They even
designed and built their own source of propulsion-a lightweight gasoline engine. When
they started the engine on December 17, the airplane pulsated wildly before taking off.
The plane managed to stay aloft for 12 seconds, however, and it flew 120 feet.

By 1905, the Wrights had perfected the first airplane that could turn, circle, and remain
airborne for half an hour at a time. Others had flown in balloons and hang gliders, but the
Wright brothers were the first to build a full-size machine that could fly under its own
power. As the contributors of one of the most outstanding engineering achievements in
history, the Wright brothers are accurately called the fathers of aviation.




frafafad Tei ot wrgds ufey ofR g 7e usl & I s

d95d 4 93 ARl &l URH H ¥y 3R SUsH &1 H-T 31 USdl g1 gdlg oigid @l
JfaspR i sudrg 78T 4Tl gt 9gd ¥ Afddl 4 99 17 fGHaR 1903 @I Ugal Aidagad
I5H & aR H AT df d Jdiferd 3R wHifdd g WReg d3dl - g4l & sald! § Ufdfsar di|
dIgaH 1 IeF &I [daR & dfeadl ol udia o1, U8 wufdaal 4 ugdl SsH 924 &
HiTHR®!, fdvar 3R Rfad U I M T PR fedl , W] TdRIEAS Ylafshan
USST BI AD ol b1 | U AT B Ihd D DI Uad 3a81 U 3= [d9H4 & UarT
@I SRl T

faea iR RIad U5 3 gHzn ¥ fauH fage ok 33 fagm o gHies o 4 Sed sie
as?ﬁﬁa“rﬁuﬁﬁa?ﬁmﬁﬁ@ﬁﬁwm{advﬁaﬂmaﬂ?aﬁﬂmﬁﬂlmﬁBv?;ﬁ
TOER e @l ars+ aqrail == G| O] GEIFS
&0 U & (i fosgn SR dsusdd TWd @1 goF & uRdlfad f&ar 1896 H, o
IoH 3MME! fociyd & g & aR & gl df I5e syt &1 ISH H TeRew Fd 8l TR
forcue 87 TaRfET & 3G Uy UGRid + 30+ TR @ aieqig B3 ¥ ®ERd #d
sy &l MO far U1l g9l g8 f9uR Ige §Y3i & O fdaue ol 3= fqaH-aied
dreAl & o @I [HEau & oY 3ifte Sriam Ot & 9R § SHSRI WK S 1900 3R
1901 H, ATy 7 4B Toged (FUUo) & WRig0 el AR FEau ae-ie! of e
oAl esd & Ugia ST &l aH 34 &1 SEddl 3 HIZdl & T g
DI Bl Bl DI 3R 3 B2 a1 T

IR S HGIH & 91 A §Y H Fpy Fdral e 9% g8 W 9 gdid S YRR
it Figd IR 9= 7Ted gFi S U aig & U &1 ~Ifud & iR ufaws gt
T T &1 U Gal URY BT 39 TRl & SR G0 & Y AT difcsd A &1 T
YT 39 R R 9% ¥ IR a1 G149 & (a4 Ued [ay-d fids fod U1 39 &1 & B
ey gy SYHT gR1 UH H3H &7 AHG e dOR T GHd g3 Al 38 Thdl Uil 1903 H
3¢ YAl 3 Ugdl g -1 ford! TRt 1000 SioRk 4 &H 411 361 304 W@ & Fid
grd FIgA - TP ged YR ard e 2o @f ufaey Wt dar & ik B fean 59
I+ fedaw 17 @l 399 URY o df SSH € Usd arggH | ddg®n & gl fie of
dIgd 12 Y38 dd HUR WaHH T8l 3R 120 He 33

1905 T 3¢y - Ugdl i o a1 G&f B [odl Ul fdb 98 Ueb 95 | Ho 1, TH1 d 318
H¢ O gdl H X8 9l YTl GERI H TR 3R 87 cgsd H 3o H o, i Wge d¢ ugd
Y forgi- qul iR @1 9319 &-1s 4t i fd oot 2idd T I Iabal 4 3fae o eafts
faf2ry sfiEite Sudled o ReM ¢4 & HRUT ASE 943 I a-gIH dIeH &1 T Hel
ST aifid 3uged o

The Wright brothers were ultimately successful in flying their plane when they built their
own

(1) Air pressure system

(2) Model wings




(3) Gasoline engine

(4) Curved surfaces
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Read the given passage carefully and answer the five questions that follow:

Many great inventions are initially greeted with ridicule and disbelief. The invention of the
airplane was no exception. Although many people who heard about the first powered
flight on December 17, 1903, were excited and impressed, others reacted with peals of
laughter. The idea of flying an aircraft was repulsive to some people. Such people called
Wilbur and Orville Wright, the inventors of the first flying machine, impulsive fools.
Negative reactions, however, did not stop the Wrights. Impelled by their desire to
succeed, they continued their experiments in aviation.

Orville and Wilbur Wright had always had a compelling interest in aeronautics and
mechanics. As young boys, they earned money by making and selling kites and
mechanical toys. Later, they designed a newspaper-folding machine, built a printing
press, and operated a bicycle repair shop. In 1896, when they read about the death of
Otto Lilienthal, the brothers’ interest in flight grew into a compulsion.

Lilienthal, a pioneer in hang-gliding, had controlled his gliders by shifting his body in the
desired direction. This idea was repellent to the Wright brothers, however, and they
searched for more efficient methods to control the balance of airborne vehicles. In 1900
and 1901, the Wrights tested numerous gliders and developed control techniques. The
brother's inability to obtain enough lift power for the gliders almost led them to abandon
their efforts.

After further study, the Wright brothers concluded that the published tables of air
pressure on curved surfaces must be wrong. They set up a wind tunnel and began a series
of experiments with model wings. Because of their efforts, the old tables were repealed in
time and replaced by the first reliable figures for air pressure on curved surfaces. This
work, in turn, made it possible for the brothers to design a machine that would fly. In
1903, the Wrights built their first airplane, which cost less than $1,000. They even
designed and built their own source of propulsion-a lightweight gasoline engine. When
they started the engine on December 17, the airplane pulsated wildly before taking off.
The plane managed to stay aloft for 12 seconds, however, and it flew 120 feet.

By 1905, the Wrights had perfected the first airplane that could turn, circle, and remain
airborne for half an hour at a time. Others had flown in balloons and hang gliders, but the
Wright brothers were the first to build a full-size machine that could fly under its own
power. As the contributors of one of the most outstanding engineering achievements in
history, the Wright brothers are accurately called the fathers of aviation.
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The passage points out that

(1) Determination to succeed pays dividends

(2) People are always skeptical of inventors

(3)
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(2) THd a9 Teey - @ wufiied Guel &4
(3) T gdig Ared g &f4d ol 8

(4) T UIHTE HYUTEGHT SHHURT &

1[Option ID=24841]
2[Option ID=24842]
3[Option ID=24843]
4[Option ID=24844]

SI. No.62
QBID:347391




TG AleHd guId] ARG B S TS| S ?
(1) TR WEE T HEBRST TR & 3o
(2) g URRTTA 9&=ia1 TH

(3) 3THals GGG Hdaar Jrd
(4) Ty Il WIPR T

1[Option ID=24845]
2[Option ID=24846]
3[Option ID=24847]
4[Option ID=24848]

Sl. No.63
QBID:347394

Fufciad 09 S-S HaR®l T3l dikred 71 gid-s ?

(1) TdefPH gHer o Rufa
(2) IET FUT A0S HY9 Ui
(3) TE® - USHHE e diged

(4) HHGH B! HTRIM YYD STl

1[Option ID=24849]
2[Option ID=24850]
3[Option ID=24851]
4[Option ID=24852]

SI. No.64
QBID:347397

fa T 2015 A1 UBIRIG T G TS TH AT 31 Sl YHICHD Y fewofiar da
fegu®l o4 PRI Ifcafad @ 2

(1) ‘Higal A1 Ml DT (TR - T o

(2) HHEAT RFecs! 7e aiadT dIdhud] HchH] I Joe-

(3) URYA YUH®D] HIH TE-H] Lo HLGd! ST

(4) BERIS YD DT A@HUD] el &y

1[Option ID=24853]
2[Option ID=24854]
3[Option ID=24855]
4[Option ID=24856]

Sl. No.65
QBID:347400

UTcH SHTC D] d¥l IRUMdTs Hdcd UG 7 dicrd-s X1 X 34% add] SHAEdY
URrdiarg o+ ggdel Uad IRl RSS2

(1) AOUIHS aul JgIfad
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fAofarers aur fGuefea
(3) Tgi~® aul AvoEs
(4) FUiOgES qUT OuITEHS

1[Option ID=24857]
2[Option ID=24858]
3[Option ID=24859]
4[Option ID=24860]

Sl. No.66
QBID:347401

HigddIe1 T T3el URT o Hidd g1 FAeor e & qf3rs 2

(1) TUTEHD

&) RILIGIG

(3) FroE®
(4) TUMEOTHD

1[Option ID=24861]
2[Option ID=24862]
3[Option ID=24863]
4[Option ID=24864]

Sl. No.67
QBID:347402
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(1) @&l - Ulieddl P [92Y WEy
(2) HHSY DHaDl &Y

(3) 3 TS| B aHAD Wdld
(4) T AW gD U&did

1[Option ID=24865]
2[Option ID=24866]
3[Option ID=24867]
4[Option ID=24868]

Sl. No.68
QBID:347405
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A iy
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G CE R

1[Option ID=24869]
2[Option ID=24870]
3[Option ID=24871]
4[Option ID=24872]

Sl. No.69
QBID:347406

ARMEY YH®! HUTel Uiied®! Siderd’ TRISH! Hii-aq0l T I i~ JT ¥l
TRUD | BIc [AHTSH B Sif-aHT TR S ?

(1) HUE®! TIAd AR HGGHD] Bl
(2) YRdS! Wl S=EIaH o B
(3) fdhHTeg 2007 - Bl Bl

(4) Fada-IR] EUH TEHT AU Bl

1[Option ID=24873]
2[Option ID=24874]
3[Option ID=24875]
4[Option ID=24876]

Sl. No.70
QBID:347407

THGIIh! URUTEH R F-BdID] Sacia- Hal

HIEH! Th ! UGRiH T Ga e aIdl 36! HS[asd
2T Ted! UE3 | * TaFSTeH GaTd =TT G
YA Ui 3o HATS B YD ER JEdl S ?

(1) $HAREEGT S
(2) TRMAEY A

(3) AR UGd
(4) ASHRIE UL

1[Option ID=24877]
2[Option ID=24878]
3[Option ID=24879]
4[Option ID=24880]

Sl. No.71
QBID:347408
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1[Option ID=24881]
2[Option ID=24882]
3[Option ID=24883]
4[Option ID=24884]

SI. No.72
QBID:347409

YIS Pl aH b 0T MURHd Ual g -

(1) diddd ¥ HH=dd

(2) 4 I Teaad

(3) Tecd I g0
(4) 4a I grE=awT

1[Option ID=24885]
2[Option ID=24886]
3[Option ID=24887]
4[Option ID=24888]

Sl. No.73
QBID:347410
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yaa |
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(4) TUATHSD ATHI]

1[Option ID=24889]
2[Option ID=24890]
3[Option ID=24891]
4[Option ID=24892]

Sl. No.74
QBID:347411
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HigId! TRyHufs Hod dars- e van -

I ITRHT diddel Ui B-?

(1) &3
(2) oA
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(4) Ui




1[Option ID=24893]
2[Option ID=24894]
3[Option ID=24895]
4[Option ID=24896]

SI. No.75
QBID:347412
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(1) g Wfcki! drqd g
(2) ThifGadl T3¢ IUHG

(3) THGYHI T3] UBR

(4) DI gqdI U3 IUHG

1[Option ID=24897]
2[Option ID=24898]
3[Option ID=24899]
4[Option ID=24900]

Sl. No.76
QBID:347413

&N NeaRITaad] GaHT dad! H-H1 YUd! JUS Tgl 8l ?
(1) gEiid g=fEd ¥s Ui UdgaE el udifd
(2) GEHT d7e1 33 TS viEs] gy

(3) T R UITHH ST 71 B T g

(4) TEATYHT 91e1 S FEArda g Hal dal wdid

1[Option ID=24901]
2[Option ID=24902]
3[Option ID=24903]
4[Option ID=24904]

Sl. No.77
QBID:347414

BRIy sfemss! R TR W it TER &1
(1) Gid Tferdd

(2) TUHI

(3) Ufer3g ufea

(4) UG ¢oR DHaid

1[Option ID=24905]
2[Option ID=24906]
3[Option ID=24907]
4[Option ID=24908]

Sl. No.78
QBID:347415

faaR faviet UROTaE Y T 9ad B 6l 7
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(4) H=<RUBTHD g

1[Option ID=24909]
2[Option ID=24910]
3[Option ID=24911]
4[Option ID=24912]

Sl. No.79
QBID:347416

A Teg, AR D1 EYH YOI TRE T&T P 1T Uiha1 4Dl §3 2

(1) YEHIT
(2) HEUUIHEA
(3) gHYET
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1[Option ID=24913]
2[Option ID=24914]
3[Option ID=24915]
4[Option ID=24916]

Sl. No.80
QBID:347417

TR A URIUST STl WeaH] ek FAMIG! Hedl UishaT gfcd HUdH! & ?

(1) @a- UGld
(2) Y9 S
(3) YU uEid
(4) FgU UG
1[Option ID=24917]
2[Option ID=24918]

3[Option ID=24919]
4[Option ID=24920]

SlI. No.81
QBID:347418
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(2) -Uol, |, Gl
(3) -G -Gl -al
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1[Option ID=24921]
2[Option ID=24922]
3[Option ID=24923]
4[Option ID=24924]

SI. No.82
QBID:347419

. drgd HH HIl|
. HHR 71|

-1 geael aIaaHTe ddl HIUl Tre Urg=s 2

1[Option ID=24925]
2[Option ID=24926]
3[Option ID=24927]
4[Option ID=24928]

Sl. No.83
QBID:347420
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SHa T I91 G B! ol 2

(1) da@l

(2) A
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(4) Tha®

1[Option ID=24929]
2[Option ID=24930]
3[Option ID=24931]
4[Option ID=24932]

Sl. No.84
QBID:347421

B = d @ U o] 91 diidls d% 9% d diaare WHIdd 74 Gid-s Y4 fay™
A ?

(1) FRPAHED =

(2) HalHae! o1

(3)




EICIHAEEE]
(4) AHFID o<

1[Option ID=24933]
2[Option ID=24934]
3[Option ID=24935]
4[Option ID=24936]

Sl. No.85
QBID:347422

Al drdiars Uelid faeHe! © U 9di T [dgH @I &7

ORERIERE
(2) &y ymoq
(3) ATiga=I hY

(4) T T

1[Option ID=24937]
2[Option ID=24938]
3[Option ID=24939]
4[Option ID=24940]

Sl. No.86
QBID:347741

dcid] B HYd dibdlied®! WEIRS Hewd Tgd T ?

(1) IEH Yl THDUEE ald [RIE1D] HiET HEHR! J1EH g

(2) &FBMERI dlbUled®! Hifdd ©Uud! AR g7 Uds

(3) TP Yiedd GFHHH GHEGS D! 3HT I TdeR IH 5 a0H S
(4) UIAS M HiDEE YIRS AIGHH] <id THUID ] TR T Jdds-

1[Option ID=24941]
2[Option ID=24942]
3[Option ID=24943]
4[Option ID=24944]

Sl. No.87
QBID:347747

P BISHI g o) qUEEdls HTgaIal YUDH! UHeEUi I gierd TR g
Usfd o8l ?

(1) Hgale Al
(2) TEgrg gyl
(3) Sf=adidl gl
(4) @ g

1[Option ID=24945]




2[Option ID=24946]
3[Option ID=24947]
4[Option ID=24948]

Sl. No.88
QBID:347752

rfefdd e favgar gaifay g4 U4 HIYRYd gadel H & & 517
(1) FHI&T 1 T

(2) fawew o geargH

(3) TH 3 uRiEp

(a) &7 HH=H

1[Option ID=24949]
2[Option ID=24950]
3[Option ID=24951]
4[Option ID=24952]

Sl. No.89
QBID:347758

YRATY PTG 7l G AIGRH - DI U6 B JHI RG] g1 2
(1) digHd= ISiUTEEd] 3HHE< 08

(2) GHIA TS WYY Sl

(3) SHax fE®! =id guor

(4) IR TSNS ST

1[Option ID=24953]
2[Option ID=24954]
3[Option ID=24955]
4[Option ID=24956]

Sl. No.90
QBID:347760

YR Wi URERME dlcid J8red YRP TRG[ HGURUN $H 8l ?
(1) &foa gi=d
(2) cEiigdEE

(3) HIET YlGH
(4) &

1[Option ID=24957]
2[Option ID=24958]
3[Option ID=24959]
4[Option ID=24960]

Sl. No.91
QBID:347217




ddd] HYAEE D D gl &7

A. TG - TREATHAD] SlaH - g "3fTel AHAT B - | U o dF1 HUd! &
B. U5 Ulecll YDA HUM 7 AATHT ca-Td! HY HZgha! 1l

C. HATHT! a4 alaadadm siald ¥ 95 Yigddmara! YRon ar
D. STl TRaHT el aRgdid| HIHRUI Tiidl Ta—H1 U HUD! &

. A tiEH T s Y=l didrerad sel gl

dai®! f[abcgde el 3ok 81 8iY :

(1) A DXEHHA
(2) AYEHHA
(3) A BIDHHA
(4) AXDHHA

1[Option ID=24961]
2[Option ID=24962]
3[Option ID=24963]
4[Option ID=24964]

Sl. No.92
QBID:347220

ddd HYIEE P B Yel B2

A. dd, THAU I HRd RHYHS dlbdIod g

B. YO, T I BT SHYfdgc® il g1

C. dial SHYfac® Aoyl gl

D. dTs ¥ »@l RHYTHS dlddId g

E. 91 ¥ TRl SYfagas #1912 T ORI RGUAD ddhAIed g

dade Iugdd [dded fag ey :

(1) AXCHHA
(2) BIXDHHA
(3) BYXEHHA
(4) DIEHHE

1[Option ID=24965]
2[Option ID=24966]




3[Option ID=24967]
4[Option ID=24968]

Sl. No.93
QBID:347221

JSTRUIG T R TS HfGDR T diablfcd Gifefds gl 9y U
YhRS! Uiigidd H-diD! o g 4iedl| T4 YRS UieddRe® g :

A. I ATl faer

B. MR

C. & S

D. 3HR HHES RIgd

F. 49y ¥+ 3fcge

dai®l [ddbeaqe el Sl B oy :

(1) A BXDHHA
(2) A BICHEA
(3) B,CIDHIA
(4) C,DIEHHA

1[Option ID=24969]
2[Option ID=24970]
3[Option ID=24971]
4[Option ID=24972]

Sl. No.94
QBID:347225
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D. HHIT

E. %ad

da®! f[adegdre el Ik faday ;

(1) A BXDHHA
(2) B,CIDHHA
(3) A CH{EHHA




(4) c,DIETAH

1[Option ID=24973]
2[Option ID=24974]
3[Option ID=24975]
4[Option ID=24976]

Sl. No.95
QBID:347226

9Tcil HIUTER T [GgUsT & & SUH Tel &7
A. FOTel YIS AT fGREe [GanTas [CRah iR ©

B. TUTell HTHTh qUISE S AT 41 WaleaRl S&id -6
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dd f[Ggu®l fdbcdgedle 9al 3R 994 T8y

(1) CIDHHA
(2) DI EHHA
(3) BXDHHA
(4) AXDHHA

1[Option ID=24977]
2[Option ID=24978]
3[Option ID=24979]
4[Option ID=24980]

Sl. No.96
QBID:347229

dd®] YTeE P - Tl B 2
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(2) CIDHAA
(3) BICHH
(4) ATDHHA

1[Option ID=24981]
2[Option ID=24982]
3[Option ID=24983]
4[Option ID=24984]

Sl. No.97
QBID:347230

dad] Hl B D HINIGTHIEE iU YHIGEd THEg 87
A. TS IRH
B. 3T Alfd
C. T de%y

D. Yl drgd
E. TS AR

dai®l [ddbeaq e el f[dbed S8l ?

(1) A BIDHHA
(2) C,DYEHHEA
(3) A BIYEHHA
(4) A, CI{DHHA

1[Option ID=24985]
2[Option ID=24986]
3[Option ID=24987]
4[Option ID=24988]

Sl. No.98
QBID:347234




dd®T AT HIDT DH-D A URFHI THHDT 52
A. Tp-dal

B. XPHR
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D. d5diA

E. 9d
da®! f[abcaae Tgl SR B ey

(1) AXEHHA
(2) CXEHHA
(3) AXDHHA
(4) BIDHHA

1[Option ID=24989]
2[Option ID=24990]
3[Option ID=24991]
4[Option ID=24992]

Sl. No.99
QBID:347236
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B. UTel! TS - iU AR
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E. 3R - BRY JIdale Teid AR

daid! f[asegre] Jei I ey

(1) A BIDHHA
(2) B,DXEHHE
(3) B,C{DHHA
(4) A, CXEHHE

1[Option ID=24993]
2[Option ID=24994]




3[Option ID=24995]
4[Option ID=24996]

Sl. No.100
QBID:347241

e $7 27 SireT 9.l 3

A. THURS LeHfaRH - el ol
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D. GIERI Sifieafad - 3 Hifd-

£ [ave® HfHae - 8 JesiH
dai®l [ddbedqe] B Ugl 8l ?

(1) B,CXEHHA
(2) A, CXEHHA
(3) C,DIEHHA
(4) A CIDHHA

1[Option ID=24997]
2[Option ID=24998]
3[Option ID=24999]
4[Option ID=25000]

Sl. No.101
QBID:347243
dcid] HYTEE Ugd aly -
A. Tes-cdrare] Ughie! 3ed Hoid: SHHRSH T3l LAdistic TRMGR Hud! 8l

B. TS7cdT2H1 3 § 1800 A1 [aR@a st gs! YA®ER W-anK! ATGa-e®! gul
Y giigd ¢@r g1

C. WI-gH1 4 el TR Hdar ol YHe! bl ek Ugiis! Jurd Hal
D. 3eCiHl [Wd-gdidic Yifeddl Id I GHIEAGaEY Sis fou yiferdr

E. AT YA TWeSsaidie] Sala®] AU § 9 1830 Ul JE 441

da®! [dbeddre Tel fadbed B 81 :

(1) A BICHEA
(2) B,CIDHHA
(3) C,DIEHHA




(4) o, BIETEH

1[Option ID=25001]
2[Option ID=25002]
3[Option ID=25003]
4[Option ID=25004]

Sl. No.102
QBID:347247

da®] HYeE Ugd oy -

A, HfaRaT @i e au fhae<ig UREeaHT 1HH H34fd 3, [ 981 ayfd
SUOTg®! QT s a5gHl UdC 5o

B. AT 9Te] WEUP 2 HfaRad U0 STU Ual de! WarTEH @

C. TaHFS! 4TS I UgeHd Sia-drs TTeRRY HUh! Gald Rdfd 7 sifaRad J1 Hua!
ERead URad gl

D. "R THIE® TRy TUa TdedaaH HaEi®! dkidded
Siiae! gurfad ufaefd &t

E. Jfaf@d Iu=0rg UaiTeT THAl Td o3 Ude A fad e 8, W usfq,
TR ¥ GHEIN0] U - Sl Hease

o] fqdedare Tgl fdmed By By -

(1) A BICHHA
(2) B,CIDHIA
(3) C,DYEHHEA
(4) A, DXEHHA

1[Option ID=25005]
2[Option ID=25006]
3[Option ID=25007]
4[Option ID=25008]

Sl. No.103
QBID:347249
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A, TIdifide® wWa: Wod SiiHafdd g
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C. Aidifidge HiEd TGl SUUDT o
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dci®| f[dbcdeEde Yol [ddhed 819 8y

(1) A BIDHHA
(2) A, CX{DHHAE
(3) A DXEHHA
(4) A, CXEHHA

1[Option ID=25009]
2[Option ID=25010]
3[Option ID=25011]
4[Option ID=25012]

Sl. No.104
QBID:347252
qcid] e H- H &G I et B
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fesu®! fascque Ul fased 99 81y:

(1) C,DXEHHA
(2) A, CXEHHA
(3) A BIDHHA
(4) B,DXEHHE

1[Option ID=25013]
2[Option ID=25014]




3[Option ID=25015]
4[Option ID=25016]

Sl. No.105
QBID:347254
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da®l [dbcaqd el f[dhdd 99 iy :

(1) A CIDHHA
(2) B,C{DHHE
(3) B,DXEHHA
(4) A DXEHHA

1[Option ID=25017]
2[Option ID=25018]
3[Option ID=25019]
4[Option ID=25020]

SI. No.106
QBID:347256
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A. GaTee SI&101 TR, SIa1T 3fiha T SR Siaed T suid @
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el faden gg ey

(1) AXCHHA
(2) CLEHHA
(3) AXEHHA
(4) BXDHHA




1[Option ID=25021]
2[Option ID=25022]
3[Option ID=25023]
4[Option ID=25024]

SI. No.107
QBID:347260

T 91 HIG Tgg3al T S 0 gui TReHT UM 913 61 13 e 914
U TeD] HYTEE B D YFRIYT & S g7

A. U, IeiTel 311G Uid Ao d! U8
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dcidl [ddbeddle Ugl fadbed By 8 :

(1) A BIDHHA
(2) B,CXEHHA
(3) A CXEHHA
(4) A, CI{DHHA

1[Option ID=25025]
2[Option ID=25026]
3[Option ID=25027]
4[Option ID=25028]

Sl. No.108
QBID:347263
dcid] HYTeE Ugd aly -
A. HETYRA fave ud ©% &fd geal g9y TiaasT g
B. HeIYRd faR1e Ud" 3fdIg 74 &id Mfdqaeay e g
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